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MATH 105 Exercise Set 7-Answer Key

1) (a)2,(b) L (c)1,(d)6

2)  (a) Soln Set={—3,1}, (b) Soln Set:{—%}, (c) Soln Set={1}, (d) Soln Set={4},
(e) Soln Set={—1,5}

3)  (a) Soln Set={2}, (b) Soln Set={5}, (c) Soln Set={3}, (d) Soln Set={—1,3}

[z
5) ln<6 _y224)

6) (a) Soln Set={7}, (b) Soln Set={5}, (c) Soln Set={5}, (d) Soln Set={5}

16
7 _
) 7
8) 16

9) (a) Soln Set={1}, (b) Soln Set={1}, (c) Soln Set={4.98636}

10) (a) Soln Set={10}, (b) Soln Set={3}, (c¢) Soln Set:{%}, (d) Soln Set:{—g, 1}

11) (a) i (2 log(a) — zlog(b) + glog(c)>, (b) glog(x) - zlog(y), (c) 2z +1

12) (a) 5log(102) — 6, (b) 3log(125) — 1

Note: There is no fourth problem :)



